

VOL 2, No 63 (2021)

Sciences of Europe

(Praha, Czech Republic)

ISSN 3162-2364

The journal is registered and published in Czech Republic. Articles in all spheres of sciences are published in the journal.

Journal is published in Czech, English, Polish, Russian, Chinese, German and French, Ukrainian.

Articles are accepted each month.

Frequency: 24 issues per year.

Format - A4

All articles are reviewed

Free access to the electronic version of journal

All manuscripts are peer reviewed by experts in the respective field. Authors of the manuscripts bear responsibility for their content, credibility and reliability.

Editorial board doesn't expect the manuscripts' authors to always agree with its opinion.

Chief editor: Petr Bohacek

Managing editor: Michal Hudecek

- Jiří Pospíšil (Organic and Medicinal Chemistry) Zentiva
- Jaroslav Fähnrich (Organic Chemistry) Institute of Organic Chemistry and Biochemistry Academy of Sciences of the Czech Republic
- Smirnova Oksana K., Doctor of Pedagogical Sciences, Professor, Department of History (Moscow, Russia);
- Rasa Boháček Ph.D. člen Česká zemědělská univerzita v Praze
- Naumov Jaroslav S., MD, Ph.D., assistant professor of history of medicine and the social sciences and humanities. (Kiev, Ukraine)
- Viktor Pour Ph.D. člen Univerzita Pardubice
- Petrenko Svyatoslav, PhD in geography, lecturer in social and economic geography. (Kharkov, Ukraine)
- Karel Schwaninger Ph.D. člen Vysoká škola báňská Technická univerzita Ostrava
- Kozachenko Artem Leonidovich, Doctor of Pedagogical Sciences, Professor, Department of History (Moscow, Russia);
- Václav Pittner -Ph.D. člen Technická univerzita v Liberci
- Dudnik Oleg Arturovich, Doctor of Physical and Mathematical Sciences, Professor, Department of Physical and Mathematical management methods. (Chernivtsi, Ukraine)
- Konovalov Artem Nikolaevich, Doctor of Psychology, Professor, Chair of General Psychology and Pedagogy. (Minsk, Belarus)

«Sciences of Europe» -Editorial office: Křižíkova 384/101 Karlín, 186 00 Praha

> E-mail: info@european-science.org Web: www.european-science.org

CONTENT

BIOLOGICAL SCIENCES

Syrovatko K.	
THE EFFICIENCY OF USING A FEED ACIDIFIER IN	
GROWING BROILER CHICKENS3	
CHEMICAL	. SCIENCES
Morozova L., Novakovska V.	
RELEASE OF FEED NUTRIENTS BY EXTRUSION OF	
LEGUMES9	
MEDICAL	SCIENCES
Shepetovskaya N.,	Loskutova T., Davydenko N., Chulkov O.
Kalenteva S., Shepetovskaya M.	PREDICTION OF RECURRENT MISCARRIAGE25
MODERN VIEW ON ULTRASOUND DIAGNOSTICS IN	Maksinev D.
OBSTETRICS13	GENITOMETRIC CHARACTERISTICS OF MALE
Vorobev S., Petrushin M.,	STUDENTS31
Ushakov D., Mikhralieva B.	
FREQUENCY AND ROLE OF ANEMIA IN PATIENTS IN	
RESCUE UNITS AND INTENSIVE CARE20	
PHARMACEUT	ICAL SCIENCES
Hroshovyi T., Dobrynchuk M.,	Nazarkina V., Kurylenko Yu.,
Pavliuk B., Chubka M.	Popova I., Teterich N., Podkolzina M.
DRONE BROOD – AS A RAW MATERIAL FOR THE	ANALYSIS OF THE COST OF TREATMENT PATIENTS
MANUFACTURE OF MEDICINES AND DIETARY	AFTER COVID-19 WITH NOOTROPIC MEDICINES IN
SUPPLEMENTS36	UKRAINE43
Blazhko I., Hroshovyi T.,	
Chubka M., Pavliuk B. ANALYSIS OF THE RANGE OF SEMISOLID MEDICINES	
IN THE FORM OF GELS ON THE PHARMACEUTICAL	
MARKET OF UKRAINE AND EXCIPIENTS IN THEIR	
COMPOSITIONS	
DHVCICS AND	MATHEMATICS
Parthentiev N., Partfenteva N.	Losovsky B., Losovsky A.
CONNECTION OF NEWTON'S FORMULA FOR KINETIC	• •
ENERGY AND EINSTEIN FORULA47	FROM PULSARS55
Koshman V.	Fedun V.

QUANTUM BIRTH OF OUR UNIVERSE49 GAS-LIQUID MEDIUM60

RELICT RADIATION AND PHYSICAL FEATURES OF THE

DYNAMICS OF PLASMA PISTON IN PIPE FILLED BY A

- 8. Bhasha SA, Khalid SA, Duraivel S, Bhowmik D, Kumar KS. Recent trends in usage of polymers in the formulation of dermatological gels. Indian J Res Pharm Biotec. 2013;1(2):161-8.
- 9. Regulatory documents of the Ministry of Health of Ukraine. Available from: http://mozdocs.kiev.ua
- 10. State Register of Medicines of Ukraine [Electronic resource]. Available from: http://www.drlz.kiev.ua
- 11. Compendium Directory [Internet]. Available from: http://compendium.com.ua.
- 12. Ministry of Health of Ukraine. On approval of the Lists of names of excipients and dyes that are part of the drug. Order № 339. 2007 June 19. Available from: http://mozdocs.kiev.ua/view.php?id=7108.
- 13. Pavliuk B, Stechyshyn I, Kramar S, Chubka M, Hroshovyi T. Therapeutic efficacy of the developed gel "Xeliogel" on a burn wound model in rats. Polski merkuriusz lekarski: organ Polskiego Towarzystwa Lekarskiego. 2020;48(287):331-4.

- 14. Vons B, Hroshovyi T, Chubka M. Comparative study of markets of Ukraine, Poland and Russia on registered medications for local treatment of burns. Pharmaceutical Review. 2016;1:74-8.
- 15. Carvalho FC, Calixto G. Rheological, mechanical and bioadhesive behavior of hydrogels to optimize skin delivery system. Drug. Dev. Ind. Pharm. 2013;39(11):1750-7. doi: 10.3109/03639045.2012.734510.
- 16. Kaur LP, Guleri TK. Topical gel: recent approach for noveldrugdelivery. Asian Journal of Biomedical and Pharmaceutical Sciences. 2013;3(17):1-5.
- 17. Vons B, Melnyk Y, Skorokhoda V, Grochovuy T, Chubka M. Research of the rheological properties of the gel based on sodium alginate for the local treatment of burns. 2nd international scientific conference. Chemical technology and engineering; 2019 June 24-28; Lviv. Lviv: Polytechnic National University, 2018. p. 232-34.

АНАЛІЗ ВАРТОСТІ ЛІКУВАННЯ ХВОРИХ ПІСЛЯ COVID-19 НООТРОПНИМИ ЛІКАРСЬКИМИ ЗАСОБАМИ В УКРАЇНІ

Назаркіна В.

Доцент кафедри $OE\bar{\Phi}$, к.ф.н., Національний фармацевтичний університет, Україна

Куриленко Ю.

Асистент кафедри ОЕФ.

Національний фармацевтичний університет, Україна

Попова І.

Доцент кафедри ОЕФ, к.екон.н., с.н.т., Національний фармацевтичний університет, Україна

Тетерич Н.

Доцент кафедри ОЕФ, к.ф.н.,

Національний фармацевтичний університет, Україна

Подколзіна М.

Доцент кафедри ОЕФ, к.ф.н.,

Національний фармацевтичний університет, Україна

ANALYSIS OF THE COST OF TREATMENT PATIENTS AFTER COVID-19 WITH NOOTROPIC MEDICINES IN UKRAINE

Nazarkina V.

Associate professor of the department OEPH, candidate of pharmaceutical sciences, National University of Pharmacy, Ukraine

Kurylenko Yu.

Assistant of the department OEPH, National University of Pharmacy, Ukraine

Popova I.

Associate professor of the department OEPH, PhD in Economics, Senior Researcher, National University of Pharmacy, Ukraine

Teterich N.

Associate professor of the department OEPH, candidate of pharmaceutical sciences, National University of Pharmacy, Ukraine

Podkolzina M.

Associate professor of the department OEPH, candidate of pharmaceutical sciences, National University of Pharmacy, Ukraine

АНОТАШЯ

Проведено розрахунки щодо вартості лікування препаратами ноотропної групи, що представлені на фармацевтичному ринку України. Розраховано ємкість ринку для найбільшого району міста Харкова для таких препаратів, як цинаризин, пирацитам, та комбінацій, що включають обрані ліки. Проведено аналіз щодо найбільш вигідного застосування препаратів з позиції їх економічної доступності при умові однакової ефективності.

ABSTRACT

Calculations of the cost of treatment with drugs of the nootropic group, presented on the pharmaceutical market of Ukraine. The market capacity for the largest district of the city of Kharkiv for such drugs as cinnarizine, piracytam, and combinations including selected drugs is calculated. An analysis of the most profitable use of drugs from the standpoint of their affordability, provided the same effectiveness.

Ключові слова: ноотропні ліки, вартість лікування, мозкові порушення, COVID-19.

Keywords: nootropic drugs, the cost of treatment, brain disorders, COVID-19.

Formulation of the problem. The pathogenesis of cerebrovascular disorders involves a complex of disorders: cerebral blood supply, metabolism and functional activity of the brain. Insufficiency of cerebral circulation and the development of local changes in brain tissue lead to a change in the relationship between blood supply and brain needs for oxygen and energy substrates, which, in turn, leads to the gradual death of nerve cells [1].

Congenital or acquired organic brain lesions, various pathological conditions, brain tumors, epilepsy, cerebral atherosclerosis, cerebrovascular disorders, senile dementia, Alzheimer's disease, acute and chronic intoxications, psychosomatic fatigue are often complicated by psychoneurological symptoms. These include disorders of memory, which is one of the basic mechanisms of integration of the brain, the basis of mental functions and intellectual abilities, attention to emotions, will, vigor, as well as the manifestation of symptoms of dizziness, fatigue and others.

To obtain an adequate relationship between the energy needs of brain tissue and the level of cerebral circulation requires the combined use of nootropics and vasoactive drugs [2,9].

In connection with the COVID-19 pandemic, one of the recommendations of the World Health Organization is to take nootropic drugs among patients. This is due to studies that show that a certain percentage (more than 30%) of patients complain of memory loss and reduced thinking processes [].

Nootropics, also known as neurometabolic stimulants, are drugs that have a direct activating effect on learning, improve memory and mental activity. The term "nootropic" is compounded - I will return, interfere, change. It was introduced in 1972 to describe

the effects on the sensory-cognitive sphere of the effects of piracetam. Later, similar effects were observed in other substances or complexes of substances.

Nootropics include 17 different types of substances: from harmless amino acids to memantine, which can cause severe liver damage and acute psychosis with hallucinations in case of an overdose. By 2025, the turnover on the nootropic market worldwide will reach \$ 4.94 billion. Therefore, the topic of calculating the cost of treatment drugs of this group are relevant.

The aim of the study was to calculate the cost of treatment with groups of nootropics for the largest district of Kharkov.

Presenting main material. Due to the worldwide pandemic of COVID-19, the use of N06BX and N07C in the treatment of drugs is necessary, because according to recent studies, most patients with COVID-19 have become more likely to complain of memory impairment, concentration after illness. This is due to the psychosomatic components, with stress and fear, as a result, increased pressure and the risk of vascular problems, can lead to decompensation of chronic or acute ischemia. Doctors also emphasize the neurotoxic effects of coronavirus infection [3,4,10].

In the study, we used the following groups for ATC code N06BX03 – piracetam and N07CA02 – cinnarizine [5,6].

Given that to build an optimal promotion strategy it is necessary to study the market and offers of the drug of the selected group, as well as to identify a competitor's position in the market, we calculated the cost of treatment with drugs containing piracetam (table 1), [7,8].

Table 1

The cost of treatment with drugs containing piracetam

INN	Trade name	Cost of 1 day of treatment	Cost of monthly treatment
Nootropic	Piracetam, caps 0.4 No. 4x15, PlivaKrakow	0.61-1.62	18.20-48.52
Piracetam	Piracetam, caps 0.4 No. 6x10, Farmak	0.27-0.72	8.10-21.60
Lucetam	Piracetam, tbl p / o 400 mg No. 60, Egis	0.91-1.53	27.25-46.00
Piracetam	Piracetam, tbl 0.4 No. 30, Darnitsa	0.25-0.67	7.50-20.00
Piracetam	Piracetam, caps. 0.4 No. 30 Montpharm	0.29-0.76	8.55-22.80

The calculations used the average retail prices (maximum and minimum) for drugs of the selected group. According to the instructions on piracetam, it is necessary to gradually increase the dose over a month to 2.4-3.2 g / day. According to the analysis, the most

expensive course of treatment (1 month) in the drug Piracetam manufactured by Pliva Krakow, Poland from 18.20 to 48.52 UAH, and the cheapest course with the drug Piracetam, "Darnytsia", Ukraine and will be from

UAH 7.50-20.00. Next, we calculated the course of treatment with cinnarizine (Table 2).

The cost of treatment with drugs containing cinnarizine

Table 2

Trade name	Manufacturer	Cost of 1 day of treatment	Cost of monthly treatment
Cinnarizine	Sopharma	0.54 -1.62	16.74-50.22
Cinnarizine	Balkanpharma-Dupnitza	0.63-1.89	19.53-58.59
Stugeron	Gedeon Richter	0.89-1.98	27.50-61.38
Cinnarizine-darnitsa	Darnitsa	0.62-1.64	19.22-50.84
Cinnarizine OZ	HNTSLS	0.75-1.77	23.25-54.87

The initial dose is tablet (25 mg) 3 times a day, gradually increasing to 2-3 tablets 3 times a day. According to Table 3.2, the cost of one package of the drug is the most expensive course of treatment (1 month) in the drug Stugeron manufactured by Gedeon Richter, Germany from 27.50 to 61.38 UAH.

The most budget-friendly treatment will be Cinnarizine manufactured by Sopharma - from UAH 16.74 to 50.22 UAH. As for the production of "Darnytsia", the treatment with the presented drug will

cost from 19.22 to 50.84 UAH. Also, treatment with domestic Cinnarizine OZ will cost from 23.25 up to 54.87 UAH per month of therapy.

Next, we calculated the cost of treatment with drugs containing combinations of piracetam + cinnarizine (table 3). Combination drugs that increase blood circulation and brain metabolism. Piracetam improves the integrative activity of the brain, helps to consolidate memory, improves learning. Cinnarizine is a blocker of calcium ions and histamine H1-receptors.

Table 3

The cost of treatment with drugs containing piracetam and cinnarizine

Trade name	Price, UAH	Cost of 1 day of treatment	Cost of monthly treatment
Fezam, Balkanpharma-Dupnitza	262.79	5.26	162.93
Tsinatropil-Zdorov'ya, Zdorov'ya	60.00	1.20	37.20
Evrizam, Farmak	79.41	1.32	41.03

It has vasodilating activity mainly against cerebral and coronary vessels, due to both the direct effect of the drug on vascular smooth muscle and its antagonism to some endogenous vasoconstrictors (norepinephrine, angiotensin). Both components mutually potentiate the antihypoxic effect of each other. The toxicity of the combination does not exceed the toxicity of the individual components.

According to table 3, we have price indicators for drugs containing cinnarizine + piracetam, depending on the manufacturer. Thus, the price of the drug Fezam is high compared to others and reaches 262.79 UAH, the price of the drug Tsinatropil-Zdorov'ya is the lowest and is equal to 60.00 UAH, the price of the drug Evrizam is UAH 79.41. The course of treatment with Fezam is 162.93 UAH for 1 month, and with the drug Evrizam - 41.03 UAH, ie almost 4 times cheaper. Also, treatment with a combination drug if necessary is much more affordable than treatment with stand-alone drugs.

At the next stage, we calculated the capacity of the market of drugs containing selected groups of drugs. Market capacity is the existing or potential sales volume of a product over a period of time. It can be measured in kind and / or money.

Data on the population of the largest district of Kharkiv - Moskovs'kyy rayon, the number of which

exceeds the number of inhabitants of Poltava were used for calculation. As of 2020, there are 400000 people living in the area. According to the statistics of Kharkiv region, 85% of adults (from 18 to 85 years old) live in the district. Of these, 45% of persons in need of treatment with a group of nootropic drugs (according to the Kharkiv Regional Clinical Hospital).

 $1)400000 \times 0.85 = 340000$ (number of adults)

 $2)340000 \times 0.45 = 153000$ (number of people in need of treatment)

Only the following groups take part in the coverage: 45-65 years of age, 66-75 years of age and 76-85 years of age, as they are the largest consumers of the drug in this category. Capacity of the Fezam drug market: we have 153000 people for calculations.

- 1) From them people 45-65 age (23%): $153000 \times 0.23 = 35190$ people
- 2) From them people 66-75 age (19%): $153000 \times 0.19 = 29070$ people
- 3) From them people 76 -85 years of age (3%): $153000 \times 0.03 = 4590$ people

On average, 6 packages of the drug are bought per year:

- 1) From them people 45-65 age: $35190 \times 6 = 211140$ unitary enterprise
- 2) From them people 66-75 age: $29070 \times 6 = 174420$ unitary enterprise
- 3) From them people 76-85 years of age: $4590 \times 6 = 27540$ unitary enterprise The average price of the drug is UAH 262.79 calculate the market capacity:
- 1) From them people of 45-65 age: $211140 \times 262,79 = 55485480.60 \text{ UAH}$
- 2) From them people of 66-75 age: $174420 \times 262,79 = 45835831.80$ UAH
- 3) From them people of 76-85 years of age: $27540 \times 262,79 = 4483236.60 \text{ UAH}$

From these calculations it follows that only for a year consumers need 413100 packages of the drug Fezam, in monetary terms it is equal to 50319068.40 UAH. Next, we calculated the capacity of the market Tsinatropil-Zdorov'ya and Euryzam.

Tsinatropil-Zdorov'ya drug market capacity: On average, 7 packages of the drug are bought per year:

- 1) From them people 45-65 age: $35190 \times 7 = 246330$ unitary enterprise
- 2) From them people 66-75 age: $29070 \times 7 = 203490$ unitary enterprise
- 3) From them people 76-85 years of age: $4590 \times 7 = 32130$ unitary enterprise

The average price of the drug is UAH 60.00. calculate the market capacity:

- 1) From them people of 45-65 age: $246330 \times 60.00 = 14779800 \text{ UAH}$
- 2) From them people of 66-75 age: $203490 \times 60.00 = 12209400 \text{ UAH}$
- 3) From them people of 76-85 years of age: $32130 \times 60.00 = 1927800 \text{ UAH}$

Euryzam drug market capacity, on average, 6 packages of the drug are bought per year:

- 1) From them people 45-65 age: $35190 \times 6 = 211140$ unitary enterprise
- 2) From them people 66-75 age: $29070 \times 6 = 174420$ unitary enterprise
- 3) From them people 76-85 years of age: $4590 \times 6 = 27540$ unitary enterprise
- The average price of the drug is UAH 79.41. calculate the market capacity: 1) From them people of 45-65 age: $211140 \times 79.41 = 16766627.40$ UAH
- 2) From them people of 66-75 age: $174420 \times 79.41 = 13850692.20 \text{ UAH}$
- 3) From them people of 76-85 age: $27540 \times 262.79 = 2186951.40 \text{ UAH}$

From these calculations it follows that only for a year consumers need 481950 packages of the drug Tsinatropil-Zdorov'ya, in monetary terms it is equal to 28917000.00 UAH. According to calculations, consumers need 413100 packages of the drug Euryzam for a year, in monetary terms it is equal to 32804271 UAH. It should be noted that the cost of drugs Fezam for the calculated number of 413100 packages for patients is 1.5 times more expensive than the cost of drugs Euryzam for the same number of packages.

Conclusions.

- 1. According to the analysis, the most expensive course of treatment (1 month) in the drug Piracetam manufactured by Pliva Krakow, Poland from 18.20 to 48.52 UAH, and the cheapest course with the drug Piracetam manufactured by "Darnytsia", and will be from 7, UAH 50-20.00
- 2. The initial dose is 1 tablet (25 mg) 3 times a day, gradually increasing to 2-3 tablets 3 times a day. The calculation showed that the most expensive course of treatment (1 month) in the drug Stugeron produced by Gedeon Richter, Germany from 27.50 to 61.38 UAH.
- 3. Price indicators for drugs containing cinnarizine + piracetam, depending on the manufacturer. Thus, the price of the drug Fezam is high compared to others and reaches 262.79 UAH, the price of the drug Tsinatropil-Zdorov'ya is the lowest and is equal to 60.00 UAH.
- 4. The cost of drugs Fezam for the calculated number of 413100 packages for patients is more expensive than the cost of drugs Euryzam for the same number of packages 1.5 times. Three strategies for promoting the domestic drug Tsinatropil-Health and tactics for compliance with the strategies are proposed.

References

1. Nootropic Neurology URL: http://www.health-medix.com/articles/liki_ukr/2011-05-10/11RLUZVU.pdf (date of access: 01/2/2021).

- 2. Neurologists named the reasons for memory and attention problems after COVID-19 URL: https://www.rbc.ru/society/30/11/2020/5fc06a559a794 70339cc18b8 (date of access: 01/4/2021).
- 3. Yulia Uvarova Nootropic drugs market. Remedium. 2010. No. 3. URL: https://cyberleninka.ru/article/n/rynok-nootropnyh-preparatov-1 (date of access: 01/9/2021).
- 4. Compendium ATC classifier URL: https://compendium.com.ua/uk/atc/N06B/ (date of access: 12/12/2021).
- 5. Tsinarizin URL: https://ru.wikipedia.org/wiki/%D0%A6%D0%B8%D0%BD%D0%BD%D0%B0%D1%80%D0%B8%D0%B7%D0%B8%D0%BD (date of access: 12/12/2021).
- 6. Piracites URL: https://ru.wikipedia.org/wiki/%D0%9F%D0%B8%D1 %80%D0%B0%D1%86%D0%B5%D1%82%D0%B0 %D0% BC (date of access: 12/12/2021). Formula Market share LZ URL: https://www.pharmencyclopedia.com.ua/article/1649/yemnist-D1% 8F% 20% D0% B7% D0% B0% 20% D1% 84% D0% BE% (date of access: 12/24/2021).
- 7. Assessment of the competitiveness of products URL: http://sb-keip.kpi.ua/article/viewFile/46917/43087 (date of access: 12/2/2021).
- 8. From glycine to Alpha Brain: how nootropics work drugs that promise to improve brain function URL: https://thebell.io/ot-glitsina-do-alpha-brain-kak-rabotayut-nootropy-preparaty-kotorye -obeshhayut-uluchshit-rabotu-mozga (date accessed: 12/2/2021).
- 9. Waters C.H. Nootropics // In: Alzheimer's Disease. Treatment and Long-Term Management. J.L. Cummings, B.L. Miller (eds.). New York: Marcel Dekker, Inc., 1990. P. 53-67.